

County Distribution Detail Report through 06/30/2017

Aurora

5/2017

6/2016

2,394

0

3,709

12

11

0

6,114

12

\$7,642.50

\$15.00

\$153.24

\$0.00

\$7,489.26

\$15.00

0.70

0.70

\$5,242.48

\$10.50

| Adioia | | | | | | | | | |
|------------------|---------------|----------------|---------------|-------------|------------------|-----------|------------------|-------------------|---------------|
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 1,299 | 1,766 | 0 | 3,065 | \$3,831.25 | \$84.99 | \$3,746.26 | 0.70 | \$2,622.38 |
| 6/2016 | 0 | 6 | 0 | 6 | \$7.50 | \$0.00 | \$7.50 | 0.70 | \$5.25 |
| | | | | | | | Entity Total | l: | \$2,627.63 |
| | | | | | | | Adjustment | t: | \$0.00 |
| | | | | | | | Total Amou | ınt: | \$2,627.63 |
| Beadle | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 4/2017 | 0 | 0 | 0 | 0 | \$0.00 | \$0.68 | \$-0.68 | 0.70 | \$-0.48 |
| 5/2017 | 4,860 | 10,279 | 115 | 15,254 | \$19,067.50 | \$405.49 | \$18,662.01 | 0.70 | \$13,063.41 |
| 6/2016 | 0 | 600 | 0 | 600 | \$750.00 | \$0.00 | \$750.00 | 0.70 | \$525.00 |
| | | | | | | | Entity Total | l: | \$13,587.93 |
| | | | | | | | Adjustment | t: | \$0.00 |
| | | | | | | | Total Amou | int: | \$13,587.93 |
| Bennett | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 960 | 1,092 | 4 | 2,056 | \$2,570.00 | \$59.08 | \$2,510.92 | 0.70 | \$1,757.64 |
| | | | | | | | Entity Total | l: | \$1,757.64 |
| | | | | | | | Adjustmen | t: | \$0.00 |
| | | | | | | | Total Amou | int: | \$1,757.64 |
| Bon Homme | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| E (0.0.4.7 | 0.004 | 0.700 | 4.4 | 0.444 | AT 040 50 | 0450.04 | #7 400 00 | 0.70 | 05.040.40 |

| Prockings | | | | | | | Entity Total: Adjustment: Total Amoui | | \$5,252.98 \$0.00 \$5,252.98 |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---|-------------------|------------------------------------|
| Brookings | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 4/2017 | 0 | 0 | 0 | 0 | \$0.00 | \$0.68 | \$-0.68 | 0.70 | \$-0.48 |
| 5/2017 | 10,786 | 19,456 | 113 | 30,355 | \$37,943.75 | \$774.31 | \$37,169.44 | 0.70 | \$26,018.61 |
| 6/2016 | 0 | 6 | 0 | 6 | \$7.50 | \$0.00 | \$7.50 | 0.70 | \$5.25 |
| | | | | | | | Entity Total: | | \$26,023.38 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amou | nt: | \$26,023.38 |
| Brown | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 4/2017 | 0 | 0 | 0 | 0 | \$0.00 | \$0.68 | \$-0.68 | 0.70 | \$-0.48 |
| 5/2017 | 11,502 | 24,780 | 249 | 36,531 | \$45,663.75 | \$962.92 | \$44,700.83 | 0.70 | \$31,290.58 |
| 6/2016 | 0 | 6 | 0 | 6 | \$7.50 | \$0.00 | \$7.50 | 0.70 | \$5.25 |
| | | | | | | | Entity Total: | | \$31,295.35 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amou | nt: | \$31,295.35 |
| Brule | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 2,893 | 3,483 | 8 | 6,384 | \$7,980.00 | \$166.25 | \$7,813.75 | 0.70 | \$5,469.63 |
| | | | | | | | Entity Total: | | \$5,469.63 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amou | nt: | \$5,469.63 |
| Buffalo | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 632 | 384 | 1 | 1,017 | \$1,271.25 | \$26.68 | \$1,244.57 | 0.70 | \$871.20 |

Entity Total:

\$871.20

| | Adjustment: | \$0.00 |
|-------|---------------|----------|
| | Total Amount: | \$871.20 |
| Butte | | |

| Butte | | | | | | | | | |
|----------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 2,854 | 5,928 | 17 | 8,799 | \$10,998.75 | \$230.14 | \$10,768.61 | 0.70 | \$7,538.03 |
| 6/2016 | 0 | 2 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| | | | | | | | Entity Total: | : | \$7,539.78 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$7,539.78 |
| Campbell | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 843 | 1,396 | 8 | 2,247 | \$2,808.75 | \$56.18 | \$2,752.57 | 0.70 | \$1,926.80 |
| | | | | | | | Entity Total: | : | \$1,926.80 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$1,926.80 |
| Charles Mix | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 3,178 | 5,069 | 14 | 8,261 | \$10,326.25 | \$210.57 | \$10,115.68 | 0.70 | \$7,080.98 |
| | | | | | | | Entity Total: | : | \$7,080.98 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$7,080.98 |
| City of Box Elder, M | eade Co | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 52 | 2,010 | 0 | 2,062 | \$2,577.50 | \$52.25 | \$2,525.25 | 0.70 | \$1,767.68 |
| | | | | | | | Entity Total: | : | \$1,767.68 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$1,767.68 |
| City of North Sioux | City, Uni | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |

| 5/2017 | 1,136 | 2,247 | 157 | 3,540 | \$4,425.00 | \$100.54 | \$4,324.46 | 0.70 | \$3,027.12 |
|------------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| | | | | | | | Entity Total: | | \$3,027.12 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amou | nt: | \$3,027.12 |
| City of Sioux Falls, L | incoln (| | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 5,552 | 19,201 | 370 | 25,123 | \$31,403.75 | \$717.24 | \$30,686.51 | 0.70 | \$21,480.56 |
| | | | | | | | Entity Total: | | \$21,480.56 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amou | nt: | \$21,480.56 |
| Clark | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 1,631 | 2,425 | 9 | 4,065 | \$5,081.25 | \$108.09 | \$4,973.16 | 0.70 | \$3,481.21 |
| | | | | | | | Entity Total: | | \$3,481.21 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amou | nt: | \$3,481.21 |
| Clay | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 2,021 | 7,062 | 55 | 9,138 | \$11,422.50 | \$244.53 | \$11,177.97 | 0.70 | \$7,824.58 |
| | | | | | | | Entity Total: | | \$7,824.58 |
| | | | | | | | Adjustment | | \$0.00 |
| | | | | | | | Total Amou | nt: | \$7,824.58 |
| Codington | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 4/2017 | 0 | 0 | 0 | 0 | \$0.00 | \$0.82 | \$-0.82 | 0.70 | \$-0.57 |
| 5/2017 | 8,347 | 18,300 | 181 | 26,828 | \$33,535.00 | \$707.47 | \$32,827.53 | 0.70 | \$22,979.27 |
| | | | | | | | Entity Total: | | \$22,978.70 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amou | | \$22,978.70 |

Corson

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 5/2017 | 1,455 | 508 | 5 | 1,968 | \$2,460.00 | \$50.51 | \$2,409.49 | 0.70 | \$1,686.64 |
| 6/2016 | 0 | 1 | 0 | 1 | \$1.25 | \$0.00 | \$1.25 | 0.70 | \$0.88 |
| | | | | | | | Entity Total | : | \$1,687.52 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$1,687.52 |
| Custer | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 3,863 | 4,917 | 33 | 8,813 | \$11,016.25 | \$246.95 | \$10,769.30 | 0.70 | \$7,538.51 |
| 6/2016 | 0 | 37 | 0 | 37 | \$46.25 | \$0.00 | \$46.25 | 0.70 | \$32.38 |
| | | | | | | | Entity Total | : | \$7,570.89 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$7,570.89 |
| Davison | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 4/2017 | 0 | 0 | 1 | 1 | \$1.25 | \$0.82 | \$0.43 | 0.70 | \$0.30 |
| 5/2017 | 6,130 | 13,030 | 233 | 19,393 | \$24,241.25 | \$499.06 | \$23,742.19 | 0.70 | \$16,619.53 |
| | | | | | | | Entity Total | : | \$16,619.83 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$16,619.83 |
| Day | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 2,527 | 3,430 | 6 | 5,963 | \$7,453.75 | \$151.76 | \$7,301.99 | 0.70 | \$5,111.39 |
| | | | | | | | Entity Total | : | \$5,111.39 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$5,111.39 |
| Deuel | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |

| 5/2017 | 2,276 | 2,824 | 6 | 5,106 | \$6,382.50 | \$135.37 | \$6,247.13 | 0.70 | \$4,372.99 |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| | | | | | | | Entity Total: | | \$4,372.99 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amour | nt: | \$4,372.99 |
| Douglas | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 1,442 | 2,067 | 5 | 3,514 | \$4,392.50 | \$89.28 | \$4,303.22 | 0.70 | \$3,012.25 |
| | | | | | | | Entity Total: | | \$3,012.25 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amour | nt: | \$3,012.25 |
| Edmunds | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 1,526 | 2,809 | 10 | 4,345 | \$5,431.25 | \$109.07 | \$5,322.18 | 0.70 | \$3,725.53 |
| | | | | | | | Entity Total: | | \$3,725.53 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amour | nt: | \$3,725.53 |
| Fall River | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 3,599 | 3,962 | 42 | 7,603 | \$9,503.75 | \$191.24 | \$9,312.51 | 0.70 | \$6,518.76 |
| 6/2016 | 0 | 4 | 0 | 4 | \$5.00 | \$0.00 | \$5.00 | 0.70 | \$3.50 |
| | | | | | | | Entity Total: | | \$6,522.26 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amour | nt: | \$6,522.26 |
| Faulk | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 997 | 1,394 | 5 | 2,396 | \$2,995.00 | \$61.72 | \$2,933.28 | 0.70 | \$2,053.30 |
| | | | | | | | Entity Total: | | \$2,053.30 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amour | nt: | \$2,053.30 |
| | | | | | | | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| 5/2017 | 2,600 | 5,029 | 152 | 7,781 | \$9,726.25 | \$216.48 | \$9,509.77 | 0.70 | \$6,656.84 |
| | | | | | | | Entity Total: | : | \$6,656.84 |
| | | | | | | | Adjustment | | \$0.00 |
| | | | | | | | Total Amou | nt: | \$6,656.84 |
| Gregory | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 2,010 | 3,437 | 17 | 5,464 | \$6,830.00 | \$145.88 | \$6,684.12 | 0.70 | \$4,678.88 |
| | | | | | | | Entity Total: | : | \$4,678.88 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$4,678.88 |
| Haakon | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 1,110 | 1,373 | 5 | 2,488 | \$3,110.00 | \$62.22 | \$3,047.78 | 0.70 | \$2,133.45 |
| | | | | | | | Entity Total: | : | \$2,133.45 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$2,133.45 |
| Hamlin | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 2,060 | 3,477 | 6 | 5,543 | \$6,928.75 | \$138.67 | \$6,790.08 | 0.70 | \$4,753.06 |
| | | | | | | | Entity Total: | : | \$4,753.06 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$4,753.06 |
| Hand | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 1,352 | 2,623 | 12 | 3,987 | \$4,983.75 | \$100.83 | \$4,882.92 | 0.70 | \$3,418.04 |
| | | | | | | | Entity Total: | : | \$3,418.04 |

| | Adjustment: | \$0.00 |
|--------|---------------|------------|
| | Total Amount: | \$3,418.04 |
| Hanson | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 5/2017 | 1,082 | 2,904 | 22 | 4,008 | \$5,010.00 | \$104.82 | \$4,905.18 | 0.70 | \$3,433.63 |
| | | | | | | | Entity Total | : | \$3,433.63 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$3,433.63 |
| Harding | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 750 | 832 | 1 | 1,583 | \$1,978.75 | \$49.66 | \$1,929.09 | 0.70 | \$1,350.36 |
| | | | | | | | Entity Total | : | \$1,350.36 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$1,350.36 |
| Hughes | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 4/2017 | 0 | 0 | 6 | 6 | \$7.50 | \$0.00 | \$7.50 | 0.70 | \$5.25 |
| 5/2017 | 5,158 | 14,014 | 225 | 19,397 | \$24,246.25 | \$510.96 | \$23,735.29 | 0.70 | \$16,614.70 |
| | | | | | | | Entity Total | : | \$16,619.95 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$16,619.95 |
| Hutchinson | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 3,470 | 4,854 | 15 | 8,339 | \$10,423.75 | \$209.18 | \$10,214.57 | 0.70 | \$7,150.20 |
| | | | | | | | Entity Total | : | \$7,150.20 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$7,150.20 |
| Hyde | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |

| 5/2017 | 815 | 1,022 | 2 | 1,839 | \$2,298.75 | \$47.22 | \$2,251.53 | 0.70 | \$1,576.07 |
|------------------|---------------|----------------|---------------|-------------|------------|-----------|---------------|-------------------|---------------|
| | | | | | | | Entity Total: | | \$1,576.07 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | nt: | \$1,576.07 |
| Jackson | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 731 | 806 | 10 | 1,547 | \$1,933.75 | \$43.93 | \$1,889.82 | 0.70 | \$1,322.87 |
| | | | | | | | Entity Total: | | \$1,322.87 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | nt: | \$1,322.87 |
| Jerauld | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 1,040 | 1,244 | 1 | 2,285 | \$2,856.25 | \$57.59 | \$2,798.66 | 0.70 | \$1,959.06 |
| | | | | | | | Entity Total: | | \$1,959.06 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | nt: | \$1,959.06 |
| Jones | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 623 | 654 | 6 | 1,283 | \$1,603.75 | \$32.16 | \$1,571.59 | 0.70 | \$1,100.11 |
| | | | | | | | Entity Total: | | \$1,100.11 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | nt: | \$1,100.11 |
| Kingsbury | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 1,538 | 3,947 | 32 | 5,517 | \$6,896.25 | \$143.36 | \$6,752.89 | 0.70 | \$4,727.02 |
| | | | | | | | Entity Total: | | \$4,727.02 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amoun | nt: | \$4,727.02 |
| Lake | | | | | | | | | |

| Reporting Period | Telecom Lines | Wireless Lines | VOIP | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| | | | Lines | | | | | Percent | |
| 5/2017 | 3,291 | 9,397 | 77 | 12,765 | \$15,956.25 | \$335.96 | \$15,620.29 | 0.70 | \$10,934.20 |
| | | | | | | | Entity Total | : | \$10,934.20 |
| | | | | | | | Adjustment | :: | \$0.00 |
| | | | | | | | Total Amou | int: | \$10,934.20 |
| Lawrence | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 8,850 | 15,379 | 174 | 24,403 | \$30,503.75 | \$638.18 | \$29,865.57 | 0.70 | \$20,905.90 |
| | | | | | | | Entity Total | : | \$20,905.90 |
| | | | | | | | Adjustment | :: | \$0.00 |
| | | | | | | | Total Amou | int: | \$20,905.90 |
| Lincoln | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 4,679 | 20,538 | 1,966 | 27,183 | \$33,978.75 | \$795.69 | \$33,183.06 | 0.70 | \$23,228.14 |
| | | | | | | | Entity Total | : | \$23,228.14 |
| | | | | | | | Adjustment | :: | \$0.00 |
| | | | | | | | Total Amou | ınt: | \$23,228.14 |
| Lyman | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 1,424 | 1,793 | 1 | 3,218 | \$4,022.50 | \$86.69 | \$3,935.81 | 0.70 | \$2,755.07 |
| | | | | | | | Entity Total | : | \$2,755.07 |
| | | | | | | | Adjustment | :: | \$0.00 |
| | | | | | | | Total Amou | int: | \$2,755.07 |
| Marshall | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 2,105 | 2,628 | 95 | 4,828 | \$6,035.00 | \$125.82 | \$5,909.18 | 0.70 | \$4,136.43 |
| | | | | | | | Entity Total | : | \$4,136.43 |
| | | | | | | | Adjustmen | :: | \$0.00 |
| | | | | | | | | | |

McCook

| moocok | | | | | | | | | |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 2,743 | 4,108 | 26 | 6,877 | \$8,596.25 | \$174.60 | \$8,421.65 | 0.70 | \$5,895.16 |
| | | | | | | | Entity Total | : | \$5,895.16 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$5,895.16 |
| McPherson | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 1,174 | 1,499 | 1 | 2,674 | \$3,342.50 | \$77.81 | \$3,264.69 | 0.70 | \$2,285.28 |
| | | | | | | | Entity Total | : | \$2,285.28 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$2,285.28 |
| Meade | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 3,883 | 15,912 | 533 | 20,328 | \$25,410.00 | \$544.82 | \$24,865.18 | 0.70 | \$17,405.63 |
| | | | | | | | Entity Total | : | \$17,405.63 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$17,405.63 |
| Mellette | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 640 | 624 | 2 | 1,266 | \$1,582.50 | \$31.69 | \$1,550.81 | 0.70 | \$1,085.57 |
| | | | | | | | Entity Total | : | \$1,085.57 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$1,085.57 |
| Miner | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 1,136 | 1,508 | 3 | 2,647 | \$3,308.75 | \$66.40 | \$3,242.35 | 0.70 | \$2,269.65 |

| Entity Total: | \$2,269.65 |
|---------------|------------|
| Adjustment: | \$0.00 |
| Total Amount: | \$2,269.65 |

Adjustment:

\$0.00

| Mi | nne | haha | |
|----|-----|------|--|
|----|-----|------|--|

| Minnehaha | | | | | | | | | |
|---|------------------|--------------------|----------------------------|---------------------|------------------------------------|--------------------------------|--|--|--|
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 4/2017 | 0 | 0 | 0 | 0 | \$0.00 | \$19.14 | \$-19.14 | 0.70 | \$-13.40 |
| 5/2017 | 51,318 | 138,784 | 2,455 | 192,557 | \$240,696.25 | \$5,057.40 | \$235,638.85 | 0.70 | \$164,947.20 |
| 6/2016 | 0 | 2 | 0 | 2 | \$2.50 | \$0.00 | \$2.50 | 0.70 | \$1.75 |
| | | | | | | | Entity Total | : | \$164,935.55 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$164,935.55 |
| Moody | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 1,679 | 4,327 | 14 | 6,020 | \$7,525.00 | \$176.40 | \$7,348.60 | 0.70 | \$5,144.02 |
| | | | | | | | Entity Total | : | \$5,144.02 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt· | \$5,144.02 |
| | | | | | | | Total Alliou | | ψ5,177.02 |
| Pennington | | | | | | | Total Alliou | nt. | ψ3,144.02 |
| Pennington Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| • | Telecom Lines | Wireless Lines | | Total Lines | Surcharge \$1.25 | Admin Fee \$1.50 | | Entity | |
| Reporting Period | | | Lines | | _ | | Net Surcharge | Entity Percent | Entity Amount |
| Reporting Period | 0 | 0 | Lines 1 | 1 | \$1.25 | \$1.50 | Net Surcharge \$-0.25 | Entity Percent 0.70 | Entity Amount \$-0.18 |
| Reporting Period 4/2017 5/2017 | 0 29,251 | 0 71,002 | Lines 1 1,369 | 1 101,622 | \$1.25 \$127,027.50 | \$1.50 \$2,658.24 | Net Surcharge \$-0.25 \$124,369.26 | Entity Percent 0.70 0.70 0.70 | Entity Amount \$-0.18 \$87,058.48 |
| Reporting Period 4/2017 5/2017 | 0 29,251 | 0 71,002 | Lines 1 1,369 | 1 101,622 | \$1.25 \$127,027.50 | \$1.50 \$2,658.24 | \$-0.25 \$124,369.26 \$270.00 | Entity Percent 0.70 0.70 0.70 | \$-0.18 \$87,058.48 \$189.00 |
| Reporting Period 4/2017 5/2017 | 0 29,251 | 0 71,002 | Lines 1 1,369 | 1 101,622 | \$1.25 \$127,027.50 | \$1.50 \$2,658.24 | \$-0.25 \$124,369.26 \$270.00 Entity Total: | Entity Percent 0.70 0.70 0.70 | \$-0.18 \$87,058.48 \$189.00 \$87,247.30 |
| Reporting Period 4/2017 5/2017 | 0 29,251 | 0 71,002 | Lines 1 1,369 | 1 101,622 | \$1.25 \$127,027.50 | \$1.50 \$2,658.24 | \$-0.25 \$124,369.26 \$270.00 Entity Total: | Entity Percent 0.70 0.70 0.70 | \$-0.18 \$87,058.48 \$189.00 \$87,247.30 \$0.00 |
| Reporting Period 4/2017 5/2017 6/2016 | 0 29,251 | 0 71,002 | Lines 1 1,369 | 1 101,622 | \$1.25 \$127,027.50 | \$1.50 \$2,658.24 | \$-0.25 \$124,369.26 \$270.00 Entity Total: | Entity Percent 0.70 0.70 0.70 | \$-0.18 \$87,058.48 \$189.00 \$87,247.30 \$0.00 |
| Reporting Period 4/2017 5/2017 6/2016 Perkins | 0 29,251 0 | 0 71,002 216 | 1 1,369 0 | 1 101,622 216 | \$1.25 \$127,027.50 \$270.00 | \$1.50 \$2,658.24 \$0.00 | \$-0.25 \$124,369.26 \$270.00 Entity Total: Adjustment Total Amou | Entity Percent 0.70 0.70 0.70 : : : : Entity | \$-0.18 \$87,058.48 \$189.00 \$87,247.30 \$0.00 \$87,247.30 |

Potter

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| 5/2017 | 1,494 | 1,706 | 4 | 3,204 | \$4,005.00 | \$80.18 | \$3,924.82 | 0.70 | \$2,747.37 |
| | | | | | | | Entity Total | : | \$2,747.37 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$2,747.37 |
| Roberts | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 4,214 | 4,446 | 7 | 8,667 | \$10,833.75 | \$239.47 | \$10,594.28 | 0.70 | \$7,416.00 |
| | | | | | | | Entity Total | : | \$7,416.00 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$7,416.00 |
| Sanborn | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 995 | 1,836 | 0 | 2,831 | \$3,538.75 | \$70.80 | \$3,467.95 | 0.70 | \$2,427.57 |
| | | | | | | | Entity Total | : | \$2,427.57 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$2,427.57 |
| Spink | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 2,235 | 4,449 | 7 | 6,691 | \$8,363.75 | \$170.97 | \$8,192.78 | 0.70 | \$5,734.95 |
| | | | | | | | Entity Total | : | \$5,734.95 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$5,734.95 |
| Stanley | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 829 | 2,112 | 13 | 2,954 | \$3,692.50 | \$75.66 | \$3,616.84 | 0.70 | \$2,531.79 |
| | | | | | | | | | |

| | | | | | | | Entity Total | : | \$2,531.79 |
|------------------|---------------|----------------|---------------|-------------|-------------|-----------|---------------|-------------------|---------------|
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$2,531.79 |
| Sully | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 870 | 1,118 | 1 | 1,989 | \$2,486.25 | \$49.80 | \$2,436.45 | 0.70 | \$1,705.52 |
| | | | | | | | Entity Total | : | \$1,705.52 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$1,705.52 |
| Todd | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 0 | 5 | 117 | 122 | \$152.50 | \$6.29 | \$146.21 | 0.70 | \$102.35 |
| 6/2016 | 0 | 12 | 0 | 12 | \$15.00 | \$0.00 | \$15.00 | 0.70 | \$10.50 |
| | | | | | | | Entity Total | : | \$112.85 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$112.85 |
| Tripp | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 2,831 | 3,705 | 11 | 6,547 | \$8,183.75 | \$164.33 | \$8,019.42 | 0.70 | \$5,613.59 |
| 6/2016 | 0 | 3 | 0 | 3 | \$3.75 | \$0.00 | \$3.75 | 0.70 | \$2.63 |
| | | | | | | | Entity Total | : | \$5,616.22 |
| | | | | | | | Adjustment | : | \$0.00 |
| | | | | | | | Total Amou | nt: | \$5,616.22 |
| Turner | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 2,640 | 5,807 | 15 | 8,462 | \$10,577.50 | \$214.08 | \$10,363.42 | 0.70 | \$7,254.39 |
| | | | | | | | Entity Total | : | \$7,254.39 |
| | | | | | | | Adjustment | : | \$0.00 |

\$7,254.39

Total Amount:

Union

| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
|------------------|---------------|----------------|---------------|--------------|------------------------|--------------------|------------------------|-------------------|------------------------|
| 5/2017 | 3,736 | 9,866 | 411 | 14,013 | \$17,516.25 | \$406.97 | \$17,109.28 | 0.70 | \$11,976.50 |
| | | | | | | | Entity Total: | | \$11,976.50 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amou | nt: | \$11,976.50 |
| Walworth | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 5/2017 | 2,425 | 3,505 | 70 | 6,000 | \$7,500.00 | \$150.68 | \$7,349.32 | 0.70 | \$5,144.52 |
| | | | | | | | Entity Total: | | \$5,144.52 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amou | nt: | \$5,144.52 |
| Yankton | | | | | | | | | |
| Reporting Period | Telecom Lines | Wireless Lines | VOIP Lines | Total Lines | Surcharge | Admin Fee | Net Surcharge | Entity Percent | Entity Amount |
| 4/2017 | 0 | 0 | 0 | 0 | \$0.00 | \$0.68 | \$-0.68 | 0.70 | \$-0.48 |
| 5/2017 6/2016 | 6,086 0 | 14,634 20 | 77 0 | 20,797 20 | \$25,996.25 \$25.00 | \$531.87 \$0.00 | \$25,464.38 \$25.00 | 0.70 0.70 | \$17,825.07 \$17.50 |
| 0/2010 | Ŭ | 20 | O . | 20 | Ψ20.00 | ψ0.00 | | | |
| | | | | | | | Entity Total: | | \$17,842.09 |
| | | | | | | | Adjustment: | | \$0.00 |
| | | | | | | | Total Amou | nt: | \$17,842.09 |
| Totals | 251,540 | 553,701 | 9,626 | 814,867 | \$ 1,018,583.75 | \$ 21,530.28 | \$ 997,053.47 | | |